Puzzle 12349 - Thursday, 10 March, 2016 - Difficulty 3

9 | 17 422 | [ 8 3 1
548796312
éf::jffff:,: | | L{di::”g’fff::: ;f:; i;{:’”fff::,}
1|7)9}24|3[5|6|8
Bos 1 b o
612|385 117|4|9
‘ ’9’,::::::; é’,iiii: é’,iiii: ‘2’1’::3 i’o’"”fff:,ﬂ: i
70541316928/ 1:
‘1’7’::,‘ :I’O’::fff::,:‘ ii H i :I’G""’fff:;: 372’111‘
91|65 2(8[4|3 |7
i i % ’1’6’,1’: é’,iiiii : : ééiiii i i i
83 |2f174afl6]9]|5
‘{3’:: f,:::‘ : i :179”” | i :l;‘::::% i ’8’,::,:::,
4|9|7)6|1 2853
%’3’:”’:::,‘ H ;:Ii{:il‘ il : i;::fff:;
2| 8143 |5]97]|6
1T 31 il : é’,::,::::f
3|6 59871 ]2]4

Copyright (c) www.dailykillersudoku.com




